132458 RAIRHRE/2dh— PHEHEHAE TRTHF

#HEH AL

FREMEIREA

HERARNNE  BREXRLTENIETAMBEL!

E R AT RIBRAE AR

PIERA

1. BSR4 15:10~16: 40 » £ 90 548 -
2. ARERARAS CARHE4 S ESARBESA) 410045 -

3. EHAEMILRE Y  AAMHHEREANESEMN - st HEARSR T EMR
BRAERANEERLA » FRAR TS -

4. VSR T4 R 3 M -
5. ALK BRRE R E RPRTRENN  HLBRFSLEREE -

6. BIBRiE R 1L > HHRERAESL L  FEXABFLAREER B TERMR
3 o




— AR BTN H28H -

L HE A 42 (IESHERT T DL TRt ¢ AR 5 EAEH | 51 86 - 55— RSB Seim st 3
(B84 - M7 b 5 115 = (EBEATE, 4 (PSSR - 25— FIS AR B P A
3 (B SEAEEAR |5 L i = AR § S ATEINEES - (RILIE - 85 K ERSARER
RSP 3 (BB - TIE AR 55 b i (ARG, 4k (FTSATRERY - AT —E T
FARSHEE  RREEEEE LR AT 53 2E THED—EE >
K R :

2. 4IFE - —EBLAB BERK - B A% POH 4B X R%: » BE&IAR=3 » BR=7 B
ZBRQ=30° + BIPR +OR Z{fB :




+—+—=7
b ab

3. E‘%[[<bc+;+b+i_6 ’ﬂUabc+—C 2+a—b+i i+—b— —Zﬁ}% -

¢ bhe b ¢ ab bec ca abc

ab+b g
a

a ¢ 1
ca+—+—+—=9
¢ a ca

4. TR a,=G+VN)+G-VT), 4 =B+/TP +B 7). 4 =B+T)’ +3~—T)'....,

a, =(3+\/7)”+<3_‘/7)""" ’ %arwz =a'an+l+ﬁ-an ’ *E‘%ﬁ%{%‘f{(a,ﬂ)=—_



1 ]

B !
Bl

sk
P

(%3

}‘Cir e
e AN S T IR
LRI ERIAR T )

—_—

)




(S RARKEEABEGREMBREGFMTEN)
L [(X] RN EER BB x BV KRB - ) - [31=3 > [5§]=5 ' [-5.2]=-6 > Al
(DEA[x]=3 » Kx TEKAT ? (353)

(2)E%D[x+%]+[x~%]=5 R x BEBA 2 (54)

[[X]+[J/]=7
Q)& x~ yimEs 2x+[y]=11 KB (x,y)=7 (653)
1[x]+3y:17




2. DAASE : x*+64 (447)

5°+64 13'+64 21°'+64 29*'+64 37'+64 45" +64

N e X x X Yy =, 5/

()t

N L5644 13464 21°+64 0 (8p-3) +64
3 E /I‘IE J X X ———— e
OOt p RIERRC B ™ ores 17 +6a " @7y + 64

AU Fa e R p B/ NTTATRR— 8BS < p, > > 8K p, =7 (657)

R IERER




3. DAA, RAR—BEFEH1,2,3,..,n > 5&a,b HIEEE > Dlad, +b BTG 4, PEBERL o F
0 b 155 FINYIFEEEES » Bla+b, 2a+b, 3a+b,..., na+b - LL f, (ad, +b) RiG ad, +b
T EEERUEREH m SRR ESREAESR - 6 0 4,F7R1,2,3 0 1§24, +5PEHT,9, 11
BREL4 - REE 2 (EFEERE (1823) » FTbL £, (24, +5)=2 -

(K £,(34,)=? » f, (54, +1)=? (453)

QVE n, a BRGNS » FILMEH] £, (ad, +b) = n ? SEEHIRSE BEOUGM » NEEU0H IS
f, (@A, +by=n = (74})

IR Sy (6904,,,, +462) =2 (553)




4. BRREFe R 4B - FRAE Y RIAE BT D AR - REET]
USRI R LA - AR - 5 4E36(4,,4,,4;,4,) ° BEXE
4ERIEBIR (a,b,c,d) > BPra~ b &EREEA BLA, > c A B4,

A B A, A, > ¢ B d WGEREAR G R (AR > BLL(4,) TR
B A HVEGRE ) BIL(A) =3 > L(4,)=3 > L(4;)=1"> L(4,)=1"

(DFRTERRLAT 4 (B85 (4,,4,,4;,4,) ZBEE - WE L(4)=i , Hfi=1,2,3,4- (477)

Q)R ERESIBIED 36 [E85(4,,4,,4;,...45) > WRL(A4)=i , HF i=1,2,3,...,36 -
(CHRE » BRAUMEETTE - BARE » FRHZ) (57)

C)RTERESIEIE 49 [HBE (4,4, .45, 4) » MR L(A) =i , HF i=1,2,3,...,49 -

(58 SFRGIUEETT L B R » HRHZ) (69)

(1
Ay A3

A A4




5. (DAITIE - EXSA LRST AAE—E - HFIA SRR EE R ZERNES » WRRR O -
(REFERES  ARELEE - W) (57)
2)7&(1) » $HEOS » FERRER 4 AFIF R~ ERENAABC > b B~ CRI%
BIETE LRSTHIWNE - (FREEEIRES - WEM(E% - £F/EH) (74)

R




